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HEAEICH T OMATREAEFR

FRTE - B IR 3-11
SMIEE
A E-XE IR i’fﬁ (7475%;_&’ W?fgcm e e
OIS — 0.08 — PA-1000
2/3(R)Bh QB+ — 0.09 — PA-1000
QEAEER — 0.09 — PA-1000
QB — 0.07 — PA-1000
8/17(CK)EY QEE{Ta — 0.08 — PA-1000
QEEEEH — 0.07 — PA-1000
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HEAEICH T OMATREAEFR

FRTE - B IR 3-11
SM24EE
A E-XE IR i’fﬁ (7475%;_&’ W?fgcm e e
DIRERIZFR — 0.09 — PA-1000
11/6 (&) EY QB+ — 0.10 — PA-1000
QEAEER — 0.10 — PA-1000
QB — 0.09 — PA-1000
5/13(K) BN QE Btk — 0.09 — PA-1000
QEEEEH — 0.09 — PA-1000
ERI1EE
AEE X B i’fﬁ (_"MSZ::m_&’ W’ffgcm Bl %
DR &SRR — 0.09 — PA-1000
11/6 GK)EER QBB+ — 0.09 — PA-1000
QEEEEH — 0.08 — PA-1000
IR ERIHFR — 0.08 — PA-1000
5/9(R)ENh QE &tk — 0.10 — PA-1000
QE AR — 0.07 — PA-1000
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HEAEICH T OMATREAEFR

FRTE - B IR 3-11
F AR 304E
A E-XE IR i’fﬁ (7475%;_&’ W?fgcm e e
DIRERIZFR — 0.07 — PA-1000
11/2(£) BN QB+ — 0.10 — PA-1000
QEAEER — 0.09 — PA-1000
QB — 0.08 — PA-1000
5/10(K) &Y QE Btk — 0.10 — PA-1000
QEEEEH — 0.09 — PA-1000
FRR294F
AEE X B i’fﬁ (_"MSZ::m_&’ W’ffgcm Bl %
DI 5T — 0.08 — PA-1000
1/7(R) EEh Dl plin — 0.09 — PA-1000
QEEEEH — 0.09 — PA-1000
IR ERIHFR — 0.07 — PA-1000
5/8(A)ENh QE &tk — 0.11 — PA-1000
Q& EEH — 0.08 — PA-1000
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AR TE#h : #E1R3-11
SRR 284
A E-XE IR i’fﬁ (7475%;_&’ W?fgcm e e
OIS — 0.06 — PA-1000
11/7(A)Bh QB+ — 0.11 — PA-1000
QEAEER — 0.10 — PA-1000
QB — 0.06 — PA-1000
5/12(K) BN QE Btk — 0.11 — PA-1000
QEEEEH — 0.10 — PA-1000
FRE2TEE
AEE X B i’fﬁ (_"MSZ::m_&’ W’ffgcm Bl %
DR &SRR — 0.06 — PA-1000
11/6(&)BNL QBB+ — 0.11 — PA-1000
QEEEEH — 0.10 — PA-1000
IR ERIHFR — 0.08 — PA-1000
5/8(&) BN QE &tk — 0.14 — PA-1000
Q& EEH — 0.11 — PA-1000
5/13 (BR10)
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FRAE i - FEiR3-11
TR 26£E
HER- K AT RER(e ARy — 2 RER) HES ti%
5cm 50c¢m 100cm
DIBERIHFT — 0.07 — PA-1000
2/4(K)ENL QEE{TE — 0.15 — PA-1000
QE AR — 0.13 — PA-1000
OIS — 0.08 — PA-1000
11/6(K)EY QE Atk — 0.14 — PA-1000
Q& E AT — 0.13 — PA-1000
DIBERIGAR — 0.09 — PA-1000
8/5(N)EN QEE{Ta — 0.16 — PA-1000
QA E R — 0.13 — PA-1000
DRI — 0.09 — PA-1000
5/7 (K)ENL QB+ — 0.16 — PA-1000
@&t EaT — 0.14 — PA-1000
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FRE - EFiR3-11
TR 254EBE
e . RIEME (R 78—~ )LHMEE) —
BE R - XKIZ I TE th o Soum oo BIE R -k
DI IHT — 0.09 — PA-1000
3/3(R) Eh QBB AT — 0.15 — PA-1000
Q& EaT — 0.13 — PA-1000
DI IHT — 0.08 — PA-1000
2/3(R) &Y QBB ATR — 0.16 — PA-1000
QA tEE AT — 0.15 — PA-1000
X DI IHFT — 0.08 — PA-1000
y /qé(mﬁz)agh QEEE A — 0.16 — PA-1000
Q& Eal — 0.14 — PA-1000
DI IHFT — 0.09 — PA-1000
12/2(8) Bh QBB ATR — 0.17 — PA-1000
QA LEE AT — 0.16 — PA-1000
DI IHFT — 0.08 — PA-1000
11/1(£) Bh QBB ATR — 0.16 — PA-1000
QA tEE AT — 0.15 — PA-1000
DI IHFT — 0.08 — PA-1000
10/4(£) £Y QBB ATR — 0.17 — PA-1000
QA tEE AT — 0.15 — PA-1000
DI IHFT — 0.09 — PA-1000
9/2(R) BEh QBB A+ — 017 — PA-1000
Q& Eail — 0.16 — PA-1000
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HEAREICEITOMARERERR

FRE - EFiR3-11
TR 254EBE
S S AIEE (10 —R)LMMEE) i
BE R - XKIZ I TE th o Soum oo BIE R -k
DI IHT — 0.08 — PA-1000
QBB AT — 0.18 — PA-1000
QA tEE AT — 0.16 — PA-1000
8/2(2) Bh ANF — 0.12 — PA-1000 BEREBE (RPEETFIB D AT FEE 5B S 15 4F)
BNF — 013 — PA-1000 ”
O~>F — 014 — PA-1000 ”
O~ F — 012 — PA-1000 ”
ENF — 012 — PA-1000 ”
DI IHFT — 0.08 — PA-1000
7/1(B) &Y QB AT — 0.17 — PA-1000
QA tEEAT — 0.16 — PA-1000
DI IHFT — 0.17 — PA-1000
6/3(A) Bh QB TE — 0.09 — PA-1000
QA tEE AT — 0.17 — PA-1000
DI IHFT — 0.08 — PA-1000
5/15(K) Bh QBB ATR — 0.16 — PA-1000
QA tEE AT — 0.18 — PA-1000
DI IHFT — 0.09 — PA-1000
4/15(R) Bh QBB ATR — 0.18 — PA-1000
QAL EAT — 0.15 — PA-1000
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HEAREICEITOMARERERR

FREEh - EriR3-11
TR2AERE
— . BIEME (T8 —R )L EFF) -
/EIJIEE iﬂ; /ﬂ“/ﬁﬂﬂ,ﬁn e 50¢cm 100em /,EJIIE%% ﬁ%%
Ot h i ER (1) — 0.13 — PA-1000
3/6 (K) BEEN QBB AT — 0.17 — PA-1000
Q& E AT — 0.17 — PA-1000
Ot h i ER (1) — 0.13 — PA-1000
2/7(R)EN @B K{fTiR — 0. 21 — PA-1000
Q& E AT — 0.17 — PA-1000
X Ot h i ER (1) — 0.10 — PA-1000
1/1f(m§§h QEEE A — 0.18 — PA-1000
Q& E AT — 0. 21 — PA-1000
Ot h i ER (1) — 0.10 — PA-1000
1276(K) BN QBB ATR — 0.19 — PA-1000
QA tEE AT — 0.18 — PA-1000
Ot h i ER (1) — 0.10 — PA-1000
11/12(8) £Y QBB ATR — 0.19 — PA-1000
Q& EaT — 0.17 — PA-1000
Ot hibER (1) — 0. 09 — PA-1000
1074(K) BN QBB ATR — 0.19 — PA-1000
QA tEE AT — 0.19 — PA-1000
Ot hibER (1) — 0.14 — PA-1000
9/6(K) Eh QBB A+ — 0. 20 — PA-1000
Q& Eal — 0.19 — PA-1000
O ER (1) — 0.10 — PA-1000
8/7() BN QBB A+R — 0. 19 — PA-1000
Q& Eal — 0.16 — PA-1000
O ER (1) — 0. 14 — PA-1000
775(K) £Y QBB AT — 0. 21 — PA-1000
Q& Eal — 0.17 — PA-1000
Ot ER (1) — 0. 11 — PA-1000
6.-11(R) Bh QBB {+iR — 0. 21 — PA-1000
R &t B gl — 0. 20 — PA-1000
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E— o BIEME (w420 —N)LER) .
/,EIIIEE 951'; /ﬁllmiﬁ,ﬁ\ 5o 50cm 100¢m /ﬂ“ﬂi%& 1%%
Ot p b ER (1) — 0.14 — PA-1000
5/10(K) EEh QBB ATR — 0. 19 — PA-1000
Q& E AT — 0. 22 — PA-1000
Ot ER (1) — 0.14 — PA-1000
416(A) Bh QBT — 0. 22 — PA-1000
QR &t E gl — 0. 23 — PA-1000
Ot ER (1) — 0.22 — PA-1000
3/12(B) Bh QBT — 0. 26 — PA-1000
Q& E AT — 0. 25 — PA-1000
Ot b ER (1) — 0. 26 0. 22 PA-1000
2/6(RA) ™ QB AT — 0. 27 — PA-1000
QR &t E AT — 0. 24 — PA-1000
X O ER (1) — 0.13 0. 14 PA-1000
1/142?%‘)1¢%U QERE T — 0.23 — PA-1000
= Q& 2 AT — 0. 22 — PA-1000
Bt piER (1) — 0. 15 0.16 PA-1000
12719(A) Bh | FEIEE(FZRI7ILL) — 0. 27 — PA-1000
ITARYEH(Z) — 0. 25 — PA-1000
11./18(&) £Y Bith i ER (G2) — 0. 27 0. 25 PA-1000
10726 (7K) REH Bt ER (L) — 0.13 0.15 PA-1000
Bt ehiER () — 0.14 0.15 PA-1000
= kit — 0. 29 — PA-1000
1071901 Y AL 7 — 0. 29 — PA-1000
IKERA 158K iE — 0. 25 — PA-1000
10712(7K) BEH Bt ER (L) — 0.14 0. 16 PA-1000
10./5(k) £Y Bt AR (L) — 0.14 0.16 PA-1000
928(K) EEN Bt ER (L) — 0. 14 0. 16 PA-1000
9/22(K) £Y Bt AR (L) — 0.13 0.15 PA-1000
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FREih - FEiR3-11
FER23EE
B B - E 2 I AEBRATOY—AER) | g e
5¢cm 50c¢m 100¢m

Bt ER (1) — 0.14 0.16 PA-1000

0 140K) B &k — 0. 28 — PA-1000
HE A A — 0. 29 — PA-1000

KER#A 5B KE — 0. 25 — PA-1000

9/7(K) HEh Bt rpEp (1) — 0.15 0.16 PA-1000
8.730(k) EEN it rpEp (1) — 0.14 0.17 PA-1000
8.724(K) BN Bt rpEp (1) — 0.14 0.16 PA-1000
817(K) Eh Bt rpEp (1) — 0.17 0.19 PA-1000
8.710(K) KN Bt rpEp (1) — 0.17 0.18 PA-1000
8.73(k) &Y Bt rpEp (1) — 0.17 0.18 PA-1000
17210k) £Y Bt rhER (L) — 0.18 0.19 PA-1000
77200k) £Y Bt rhER (L) — 0.16 0.17 PA-1000
77130K) EBh Bt rhER (L) — 0. 30 0. 30 RDS-30
776(K) Bh Bt rhER (L) — 0. 21 0. 23 RDS-30
6.729(K) BN Bt rhER (L) — 0. 26 0. 31 RDS-30
6.722(k) £Y Bt rhER (L) — 0. 28 0. 23 RDS-30
G/igﬁ?ﬁ%t) gt DER (1) — 0. 23 0. 23 RDS-30
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